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Ecuacion =5 x3y(x)2 -|—4x2y(x)3 +2y(x) + (4 x4y(x) +5 x3y(x)2 +3 x) (—

restart

(5\43%24 Z/y?'c1?’+ zw} (éy Y + 5X 4 +5><>€Piﬁ =0

MM

Ecuacion == 5-x--3-y(x)--2 —|-4x 2p(x)-3+2-y(x) + (4-x-4-y(x

+3-x)-diff (y(x),x) =

with(DEtools)

odeadvisor( Ecuacion)
[ rational]

simplify(intfactor( Ecuacion) )
1

x (Pyx)?+ 142 y(x)) y(x)

1
X (x2y2+1 +x3y)y
Factlnt =

Factint =

1
Xy (x2y2+1 +x3y)

M:=5x3y2+4x2y3+2y
M:=5x3y2+4x2y3+2y
N:= (4x-4y+5x-3y-2+3x)
N:=4x4y+5x3y2+3x
Comprobacion | = simplify(diff (M, y) —diff (N, x)) =0

Comprobacion := -6 x3y —3 )czy2 —1=0

MM = simplify(Factlnt-M)
MM = 5x3y+4x2y2+2
T 2 2 3
x (x yV +1+x y)
NN := simplify(Factlnt-N)
3 2.2
NN = 4x y+5xy +3

y (xzy2 +1 +x3y)
Comprobacion,, = simplify(diff (MM, y) — diff (NN, x)) =0
Comprobacion, :=0=0
Faln == x-y--2
Faln := xy2
MMM = simplify(M-Faln)
MMM:Zy3 (5x3y-|-4x2y2 +2) x
NNN = simplify(N-Faln)
NNN:Zy2 (4x3y+5x2y2+3) X

) +5x--3-p(x
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> Comprobacion, = simplify(diff (MMM, y) — diff (NNN, x)) =0

Comprobaciony :=0=0

=> SG, = simplify(int(MMM, x) + int( (NNN — diff (int(MMM, x),y)),y)) =C,

SG, :=xsy4-|-x4y5 -|-3€2y3=C1

=> SG, = simplify(int(MM, x) + int( (NN — diff (int(MM, x), y)),y)) =C,

VVYV

SG,=21In(x) +In(x’y* +1 +x’y) +3In(y) =C,

> expand(simpliﬁ/( exp(lhs(SGz) ) ) ) =C,

ff+ff+ff=Q
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